Ex 1 A 30cm by 50cm picture has a frame surrounding it. If the frame is the same width all around, and the
total area of the frame and picture is 1836 em?, how wide is the frame?
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Ex 2 The sum of a numheraZél'l’r’e-etimes its re;:iprn-calis . What is the number? ,/—/’}(Qcﬁﬂ_) = f‘{’gé
X~ Aha Aum ( ) AT 2T 4170 (42 ) = 4gY

[{( + 3) ) ><<§?5_: J) -q (g‘:f__‘l"):ﬁ xizf;i i; neq
2t 3)=(28,). 3 V(=) =0 :@#%E’
- x > Wil
g‘;{l‘f’q = ggx C ;-"‘. :Lq:,a L\

Ze-i=o

3x —28% #4=0 =l k=4 ’ ,
527 |6, [Gak x=s deck vy 133717073
@28 | -2 1+ 34 1+ 27

zap L =24l 2250 12Y o

Ew 3 hdr Bamiid hibas ta winmrlkr wikilea e Amdarean sdrhaae tm wrarks Bk their hath lhoe Shees susats feans dha



e 1F Wiy WA Med e @0 58N SEIE e RERI RSy TP R MU TR A B RS el B el I dille FIREEFM Ve Wi Wl e AW THAANT0 R, BT FFEaR

Anderson drives 15km/h faster than Mr, Raoul can bike, what is the speed of each of them [answer to 1
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Ex 4 Mr. G and Mrs. Holman are marking PC 11 exams. Mrs. Holman can mark a class set of exams 10 minutes
faster than Mr, G can. If they both work together, they can mark a class set in 1 hour, How long does it take
each of them to mark a class set of exams (answer to the nearest minute)? K ’ée’sﬂt /;@f ,
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